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【解答例】 

 
Ⅰ 
１．イ (C)   ロ (E)   ハ (B) 

２．  路線が増え人々の移動距離が長くなるにつれて，イギリスでは乗客に食事や宿泊を提供

するために次々と駅に軽食堂を設置したり，沿線にホテルを建てたりした。 

３．(D) 

４．  乗客は時間に追い立てられ，コーヒーや紅茶やスープの温度が飲めるくらいにまで下が

らないうちに発車のベルが鳴ってしまうことがよくあると不平を言った。 

５．(B) 

６．(C),(E) (順不同) 

 
Ⅱ 
１．記号：(A) 

理由：日常生活を長期間制限されるコロナとのたたかいは，持続的な忍耐を要するという

点で，短距離走ではなくマラソンに似ているため。（60字） 

２．has to change the way we perceive a situation 
３．Ⅰ  (F)   Ⅱ  (A)   Ⅲ  (D)   Ⅳ  (E)  

４．① (D)   ② (F)   ③ (B)  ④ (I) 

⑤ (H) ⑥ (E) 
５．(A) 

６．(B) 

 
Ⅲ 
１．(B) 

２．(E) 

３．(C) 

４．(B),(D) (順不同) 

５．     I believe there will still be wars and conflicts in fifty years.  As the World Wars 
and current conflicts in Gaza and Ukraine show, war is part of human nature.  
Therefore, I’m afraid people will continue to kill each other.  (40 words) 

  



2025名古屋大学（前期）英語（全学部共通）解答例 

 

Ⅳ 
１．     Social media featuring text message exchanges has made personal communication 

much more focused on content than the way the message is conveyed, because it only 
carries words, not other communication elements such as facial expressions and tones 
of voice.  (39 words) 

 
２．    My life would be less stressful without social media.  First, I wouldn’t need to 

check my smartphone every 30 minutes to see if someone had posted a new message or 
picture.  Second, I wouldn’t have to try so hard to make my life look better than it 
actually is.  (49 words) 

 
 
 


